
CE 572 – Spring 2015

Intersection Traffic Operations

Class 18

2 March 2015

1



1. The fundamental aspect of the platoon dispersion model is 
to predict the flow rate during a time step.  If you multiply 
this predicted flow rate by the duration of the time step, 
what is the result?

2. What logic would you use to predict the current length of 
the queue during a given time step?

3. What is the product of this predicted queue length and the 
duration of the time step?

4. Does the offset at the downstream signal affect the capacity 
of the approach at the downstream intersection?

5. Does the arrival pattern at the downstream intersection 
affect the capacity of the approach at the downstream 
intersection?
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